September 6, 2022

Student Name: Hayes, Davis Willard

Asheville High School No: 111302

# Asheville High

419 McDowell Street Asheville, NC 28803-2610 (828) 350-2500 Official NC Transcript

09/06/2022

STUDENT INFORMATION

Name: Hayes, Davis Willard Student No: 12314840 Address: PO Box 7346 Student No: 04/25/2005

Asheville, NC 28802-7346 Sex: Male (919) 805-4385 Expected Graduation Date: 06/09/2023

Contacts: Hayes, Daniel Willard Expected Graduation Date: 06/09/2023

Contacts: Hayes, Daniel Willard Course Of Study: Future Ready Core

Hayes, Tressa

Endorsement(s)\*: No
CTE Concentrator\*\*:

Math Rigor: Yes

SCHOOL INFORMATION

Principal: Derek Edwards School No: 111302 (828) 350-2500 Accreditation: SA

L.E.A.: Asheville City Schools

College Board Code: 340140

(828) 350-7000 CREDIT HISTORY

CREDIT HISTO	SIX1				Earned	
	Course	Mark	Weighted	Unweighted	Credits	Flags
Grade: 8	2018/19					
21092Y0	NC Math 1	97			1.00	EU
Grade: 9	2019/20					
33205X0	Biology Honors / Biology I	91	4.500	4.000	1.00	U
	Honors					
60492X0	Health and PE Grades 9-12 /	100	4.000	4.000	1.00	
	Health and Physical Education:					
54450\/0	Grade 9	0.5	4.000	4.000	4.00	
54152X0	Visual Arts (Beginning) / Visual	95	4.000	4.000	1.00	
4202EV0	Arts (Beg) I	96	4.500	4 000	1.00	U
43035X0 10215X0	World History Honors English I Honors	96 95	4.500 4.500	4.000 4.000	1.00	U
22095X0	NC Math 2 Honors	95 98	4.500	4.000	1.00	U
52402X0	Orchestra (Beginning) /	PC19	0.000	0.000	1.00	E
0240270	Orchestra (Beg) I	1 010	0.000	0.000	1.00	_
BF055X0	Personal Finance Honors	95	4.500	4.000	1.00	
Grade: 10	2020/21					
34205X0	Chemistry Honors / Chemistry I	95	4.500	4.000	1.00	U
	Honors					
10225X0	English II Honors	96	4.500	4.000	1.00	U
60292X0	PE Grades 9-12 / Foundations of	100	4.000	4.000	1.00	
	Athletic Conditioning I					
11412X0	Spanish I	94	4.000	4.000	1.00	U
42095X0	Amer His: Found Prin, Civ &	98	4.500	4.000	1.00	U
	Econ Honors / Amer Hist:Found					
	Prin,Civics Econ Honors	0.7	4.500	4.000	4.00	
HU405X0	Health Science I Honors	97	4.500	4.000	1.00	
23095X0	NC Math 3 Honors	96 05	4.500	4.000	1.00	U
11422X0 Grade: 11	Spanish II 2021/22	95	4.000	4.000	1.00	U
60292X0	PE Grades 9-12 / Foundations of	100	4.000	4.000	1.00	
60292XU	Athletic Conditioning II	100	4.000	4.000	1.00	
MH315X0	Sport and Event Marketing I	97	4.500	4.000	1.00	
IVII IO IOAU	Honors / Sports and	91	4.500	4.000	1.00	
	Entertainment Marketing I Hon					
1A007X0	AP English Language and	92	5.000	4.000	1.00	U
1001710	Composition	<u> </u>	0.500			J
3A027X0	AP Environmental Science	96	5.000	4.000	1.00	U
4A077X0	AP United States History	90	5.000	4.000	1.00	Ü
<del>1</del> /10/1/1/10				4.000		

Student No: 12314840

September 6, 2022 Student Name: Hayes, Davis Willard Student No: 12314840 Asheville High School No: 111302 **Earned** Course Weighted Unweighted **Credits** Mark **Flags** 24035X0 Pre-Calculus / Pre-Calculus 4.500 4.000 1.00 99 Honors 44035X0 Psychology Honors 4.500 4.000 1.00 96 U Grade: 12 2022/23 3A007X01 AP Biology / AP Biology SU 1A017X01 AP English Literature and PU Composition / AP English Literature and Composition 2A037X01 AP Statistics / AP Statistics PU PU 4A067X02 AP United States Government and Politics / AP United States Government and Politics Biology II (2nd Yr) Honors / PU 33215X02 Biology II Honors PLTW Principles of Biomedical S HP705X00 Sci Hon / PLTW Principles of Biomedical Sci Honors 48005X05 Social Studies Local Elective PU Honors / US History Through Film Honors 11435X01 Spanish III Honors / Spanish III PU Honors UNIVERSITY OF NORTH CAROLINA BOARD OF GOVERNORS MINIMUM COURSE REQUIREMENTS REMAINING English IV PERFORMANCE INFORMATION Cumulative GPA Total Points are Calculated as of the end of 09/06/2022 Cumulative GPA Weighted: 4.4130 Total Points Weighted: 101.5000 Cumulative GPA Unweighted: 4.0000 Total Points Unweighted: 92.0000 Class Rank as of 06/14/2022: 38 out of 271 Total High School Credits: 23.000 Potential: 23.000 **Total Credits Toward Graduation:** 25.000 **TESTING INFORMATION Test Name / Score Name** Score **Test Date** CPR 02/22/2019 CPR Pass Fail р Math I End of Course 06/01/2019 MathI\_EOC\_Scale 563 MathI\_EOC\_Achievement\_Level Level 5 Mathl EOC Percentile 92 Biology End of Course 01/01/2020 Biology\_EOC\_Percentile 88 Biology\_EOC\_Achievement\_Level Level 5 Biology\_EOC\_Scale 262 English II End of Course 01/01/2021 EnglishII\_EOC\_Percentile 99 EnglishII\_EOC\_Scale 572 EnglishII\_EOC\_Achievement\_Level Level 5 HU40-First Aid 05/01/2021 CTE Industry Recognized Credential Met NC Math 3 End of Course 06/01/2021 NC Math 3 EOC Scale 555 NC\_Math\_3\_EOC\_Percentile 72 NC\_Math\_3\_EOC\_Achievement\_Level Level 3 \* ENDORSEMENT DETAILS **CURRICULUM RELATED WORK EXPERIENCE** No Data For Student **AWARD/ACHIEVEMENTS AND EXTRA-CURRICULAR ACTIVITIES** 

No Data For Student

September 6, 2022			
Student Name: Hayes, Davis Willard	Student No:	12314840	
Asheville High	School No:	111302	
	Signature of Principal or Designee Certifying This Transcript		
	Name:	)ate:	

### **GRADING AND GPA DETAILS**

Note: Effective July 1, 2015 North Carolina changed to a standardized 10-point grading scale.

Prior to July 2015, North Carolina school districts used a variety of 7-point grading scales.

Note: All courses taken at the middle school for high school requirement(s) will not calculate in the GPA.

Note: High School Earned Credits only are calculated.

**Grading Scale** 

90-100 = 4.0 80-89 = 3.0 70-79 = 2.0 60-69 = 1.0  $\leq 59 = 0.0$  WF = 0.0 FF = 0.0 WP = 0.0 INC = 0.0 AUD = 0.0 P = 0.0 PC19 = 0.0

WC19 = 0.0

## CDM = Credit by Demonstrated Mastery (SBE-GCS-M-001)

### Course Flags

E Course is excluded from GPA
N Course is non-credit course
P Course is in progress

S Course is scheduled to be taken

Course is a transfer course from a non-North Carolina public school
 Course contributes toward UNC minimum course requirements

## \*\* CTE CONCENTRATOR DETAILS

AGNR-Agriculture, Food & Natural Resources
ARCH-Architecture & Construction
AAVC -Arts, AV Technology & Communication

EDUC -Education & Training
HUMA-Human Services
INFO -Information Technology

BMA -Business Management & Administration LAW -Law, Public Safety, Corrections & Security

FINA -Finance MANU-Manufacturing HLTH -Health Science MRKT-Marketing

HOSP-Hospitality STEM -Science, Technology, Engineering & Mathematics

GOVT-Government & Public Administration TRAN -Transportation, Distribution & Logistics